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. PART-A
o PN — D
Answerany four. Each answernotto exceed 1%z pages. (4%x4=16)
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1. Write a note on the features of Business Economics.
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2. What do you mean by extension and contraction in demand curve ?
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3. What are the determinants of supply ?
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04. What is income elasticity of demand ?
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5. Distinguish between fixed cost and variable cost.
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6. State the law of increasing returns.
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PART-B
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Answer any four. Each answer notto exceed 3 pages. (4x8=32)
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7. Explain the economic and social objectives of a business firm.
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8. Define demand. Explain the determinants of demand.
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9. Explain the concept of consumer surplus. Pointout its limitations.
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10. What are the exceptions to the law of demand ?
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11. Explain the factors that determining the business environment.
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12. Explain the law of variable proportions.
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PART-C

ST = 2
Answerany two. Each answernotto exceed6 pages. (2x16=32)
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13. Define Business Economics. Explain the scope of Business Economics.
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14. Explain the law of diminishing marginal utility. Point-out its uses.
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15. Define price elasticity of demand. Explain the different types of price elasticity of
demand.
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16. Explain the cost-output relationship of a firm in the short-run.
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